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A.APR.D.6: Rational Expressions 2

2 2
1 Ifx # 0, the expression X+ 2X is equivalent to 5 Express in simplest form: %
X" —oX

1) x+2
2) 2

3) 3x

4) 4

2
6 Express X+23—Xl() as a fraction in simplest form.

X+ 5X

2 For all values of X for which the expression is
2

defined, 22)(;)( is equivalent to
| X" +5X+6 7 Express the following rational expression in
- 2
D X+3 simplest form: 29—)(
X 10x” —28x -6
2y —=
X+3
1
3) X+2
4) X 9x* — 15xy
X+2 8 Simplify: ————
Ox” —25y

3 Which expression is in simplest form?

1)) Lz 9 The fraction 3 —X X # 3, is equivalent to
X 2X—-6" ’
9 1
2 =
) x*+9 D3
2 1
X —4 2) —
3 X+2 2
2 1
4) x2—6x+9 3) 1
X" =X-6 1
4) 1
2
X" +6X+5
4 Simplify: ———
P e s
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10

11

12

2

x’y* -9
Written in simplest form, the expression W
is equivalent to
1 -1
1
2) 3+Xy
3) —(3+xy)
4) 3+Xxy
x° —9x
Written in simplest form, the expression
45x — 5x
is equivalent to
1
1) 5
1
2) - 5
3) 5
4) -5
Which expression is equivalent to — — > ?
X" -y
1
1) X—y
-1
2) X_
1
3) X+Y
-1
4) X+Yy

Name:

Xy—4
13 Written in simplest form, the expression p y S is
H 1
2) 0
2

Xy—4
3) y >

4-xy
4) -1

14

1)
2)
3)

4)

3y -1y
The expression —— 5 Is equivalent to
4y -y

3
y
_3

y

2
4
312
472
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1

ANS: 1

2
X~ +2X
=X+2

REF: 010109a
ANS: 2
xix+2) _ x

(x+3)(x+2) (x+3)

REF: 060202b

ANS: 2

x 1 x2—4=(x+2)(x—2)=x_2 x-6x+9 _(x-3)(x-3) _x-3
x x  x+2 x+2 Coxtox-6 (x-D(x+2) x+2
REF: 060712b

ANS:

x+1 (x+3)(x+1) _x+1

X=5" (x+5(x-5 =x-5

REF: 010631a

ANS:

x+3 x°-5x-24 (X=8)(X+3) x+3

X x*_—8x X(X —8) X

REF: 060837a
ANS:
X—2

X

REF: 088704siii

ANS:

Xx=3 (B3+0@-2 _-13+x(x-3) _-x-3
10x +2° (x=3)(10x+2) (x-3(10x+2) 10x+2

REF: 060325b
ANS:

3X
3X+ 5y

REF: 069924a
ANS: 2 REF: 060118siii

ID:



10

11

12
13
14

ANS: 3
(xv +3)(xy = 3) _
~1(zy -3)

REF: 080305b
ANS: 2

x(x—9) _ -1(5-x) _

5x(9-1x  5(9-x)

REF: 060504b
ANS: 4
ANS: 4
ANS: 2

3 -2y 3y _-@-» 3

~(3+w)

1

5

REF: 011013b
REF: fall9911b

4yt =yt Y-

REF: 080619b

yid -y

Y

ID:



